Addition and Subtraction Knowledge Organiser

Add (20) 15+5=20 ; 7+5=12
Total r/l;vk_/@ 20-5=15 - 12-5=7
Make \J5) 20-15=5 5 12-7=5
Plus
Sum 0000000 0 12 3 45 6 7 8§ 10111213 141516 1718 15 20
More 4 +3=7 15-7=8
Altogether
Leave . . .. - . .
Subtract Add 2-digit and 1-digit Add 2-digit numbers Subtract 2-digit numbers
= T O - -
frence e | %Y Yy oy ™y [T 34+28 = 62 6225 = 34
Less 27+ 6 =133 a HIE 3 tens and 4 ones
Minus B B, HHE g 7
7 T ™ £ Y 12 3 ad Ml [
Take away : - - . ' ' . 83 1l % 2 tens and 8 ones [
Mentally, Orally Subtract 1-digit from 2 digit sl=la)s 5
Column Addition ) — equals 6 tens and 2 ones becomes
p T T T T T N, s Tomes| |HE
Column Subtraction T ® B » u = 1 il 5tens and 12 ones | 5 tens and 17 ones subtract
Estimate - um
33-6=27 O
Tnverse operation . ., il becomes 2 tens and 8 ones equals
Solve problems @ m  ® am om o3 o Bﬂﬁ il btensand 2 ones | 3tens and &4 ones
l 1 1 | | | |
Number facts
Place Value
2+8=10 32 + 68 =100
3 tens and 2 ones + 6 tens and 8 ones
so 20 + 80 =100 g
\ HEEEEEEE = 9 tens and 10 ones = 10 tens =one hundred y
Compare Number Sentences Add and subtract 1s 10 More or Less Add and Subtract 10s
_ | 24+1=125 |30 [s0|s0|e0|{70 80| | 10| 30]5]7]o0|
E+h<b+5 2b+2=126 a7 |57 67|77 |87]07] EREREGRER
25 +3=27
The ones digit stays the same. Tens Ones
[2ﬁ[25[25|21]23]29|3ﬂ|31| 77
10 less | Number | 10 more m
E+3=6+12 17-1=134 2 H + 40
Related facts 37-2=35 i . -
5+4=9s5050+40=90 I7-3=34 1 11 21 ] :
EI ﬁf_\-\\ﬁ shmda T T T T Ones
o I 1 l l 1 j | (R el HH T 12
il 33 36 35 36 3T 36
E H i o * FHH -30
=B There are 7 flowers Take care when Fian
Add 3 1-digit numbers in a vase. One crossing hundreds: 42

T T T T T T | o s e (36 T o6 [ e Crossing hundreds:

9+5+3=17 Mow there are 8

flowers, [ 7 | 94 [ 110 | 134 |

32 +5=82x Spotthat5 tens 37 -4 =41 x Spot that if subtracting
“ have been added not 5 ones 4 the answer will be smaller.
28 -26 =12 x Spot that 28 and 26 are very 68 - 40 = 64 x Spot that &4 ones have
close together, so difference won't be 12 been subtracted and not &4 tens.

19 - 8 = 11 can be checked using 8 + 11=19
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